oA
\/ A= l
Q=P
2=
N /%

V-oTA

NIEDEE
A+ - fFEaDHNFE | (1)

ROEHEELIL LS,

70x2 = 140
GtEn LA 1)
70X2=(7X2)X 0= 140

20x9 =180
(GtED LA F)
20X9g=(2X9)Xx 10=180

30x8 =240
(GtED LAHT)

30X 8=(3x8)X 10=240

80x7 =560

GHED L)
80X 7=(8X7)X 10=560

40x5 =200
GHEO LhE)

40X5=(4X5)x 10=200

A PR NPE - RPEES ORNSE TR A
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8 Zul
60x5 =300

GtEn Lo r:)
60X 5=(6X5)X |0=300

40x2 =80
(tED LA F)
40X2=(4X2)X 10=80

JOX 6 =540
GtEon Lo rz)
JOX6=(9X6) X |0=540

50x 8 =400
(tED LAF)
50X8=(5X8)X 10=400

60X7 =420
GtEn LhF:)

60X7=(6XT7)X 10=420
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